SN sgler
A ASRSABARD(SPHYSM/5Y - 55)
el ded3sgy |4 (&2 dd)
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
S8 106,756,095 108,614,336 1,858,241
= 78,208,187
X 15,207,500
D) 293,222
= 13,047,186
Al 83,723,274 86,167,681 A2,444 407
2 74,165,897
X 223,500
7l 293,222
& 9,040,655
24,400,187 24,526,360 A126,173
=l 20,950,797
X 223,500
= 3,225,890
16,577,120 16,434,880 142,240
=2 14,801,000
& 1,776,120
308 AFXIHMSOIH 16,577,120 16,434,880 142,240
= 14,801,000
= 1,776,120
01 HIXNHMBSELS 16,577,120 16,434,880 142,240
ORIIEHIgES= 16,577,120
= 14,801,000
& 1,776,120
SN KA A 4,222,942 4,222,942 0
=2 3,741,847
[ 481,095
4,222,942 4,222,942 0
= 3,741,847
= 481,095
4,222,942 4,222,942 0
4,222,942
= 3,741,847
& 481,095
335,250 0 335,250
X 223,500
& 111,750
335,250 0 335,250
X 223,500
= 111,750
335,250 0 335,250
335,250
X 223,500
& 111,750
2,057,850 2,139,000 281,150
= 2,057,850




A S
M AYRSABARD(SYHLS /5 - 5E)
ool AEEsY |4 (EEEEED
- _ — PoRE |
SN BB SR(EH) - MPAY - B 0l &t St HIRE2
308 XtXISHMSO0IH 2,057,850 2,139,000 81,150
= 2,057,850
01 IXEHBAELS 2,057,850 2,139,000 A81,150
orEZ=sg HNEX=H 2,057,850
= 2,057,850
TEd sitE RSadsE 297,800 409,300 A111,500
202 ¢4l 8,000 10,000 A2,000
01 =L YI 8,000 10,000 A2,000
OFEYsY SHYL = 8,000
308 XtXIEHMS0IH 64,800 64,800 0
01 UAXHMB A EXS 64,800 64,800 0
Or&E Esd= TN K& 64,800
403 MRS S K201 A 225,000 334,500 A 109,500
01 "XIESHMAEE X 225,000 334,500 A 109,500
Oz gdsitEs SSEFAIL - ZHIXA 81,000
oz gd=sits SadE EXXE 144,000
sy AdDIE &5 165,600 223,800 258,200
403 UHXISHH S =0l & 165,600 223,800 258,200
01 AXISHMA=E L 165,600 223,800 258,200
ozxe&Z=sg AsadHX =4 54,000
Oz ST sLEs HSHMAAL K& 21,600
ORII=sdE HZE - IIBAIE K2 90,000
Etd ST = 92,700 92,700 0
308 At XIHHSOIH 92,700 92,700 0
01 UAXSHHBAEES 92,700 92,700 0
oxEd s 2= 92,700
dEdsg =H 143,280 153,280 A 10,000
307 212+0I A 30,000 40,000 A 10,000
04 QIZHHALAIH E X 30,000 40,000 A 10,000
oz ad=sitE 2HE 3l 30,000
308 XHXIHMSOIH 113,280 113,280 0
01 UAXSHMBAEES 113,280 113,280 0
ozl gdsitE USELNH 108,000
O A=A MRI|= FEMS 5,280
2 =X XNSAL(22) 507,645 256,215 251,430
= 350,100
T 157,545
308 At XIHHSOIH 507,645 256,215 251,430
= 350,100




A s0IED
) AgAsZUHNL(sEHL/sY - sE)
el JEdsy |4 (el &)
SA I S(EH) - MRAY - By S 03l o8 e Bl RE2
= 157,545
01 IXEHBAEES 507,645 256,215 251,430
ORIl s M K& 507,645
= 350,100
T 157,545
AL A 25t 37,137,522 37,193,362 Ab5,840
= 35,966,900
| 293,222
= 877,400
DSEH M 818,000 702,000 116,000
202 044l 6,500 7,000 A500
01 =0 YI 6,500 7,000 A500
ORAHHS =& 6,500
307 212+0I ™ 52,000 0 52,000
04 CIZHHALAIH E X 52,000 0 52,000
oZaYy =2 0HAHE N 52,000
308 At XIHHSOIH 542,000 575,000 233,000
01 IXEHBAEES 542,000 575,000 233,000
OJls&% HAHE X3 15,000
OL3H AHIEX XA 27,000
OH Tl &4 & I K& 500,000
403 MRS S K201 A 217,500 120,000 97,500
01 AXISHMA=E X 217,500 120,000 97,500
ol EE2 A4 K& 114,000
OH sRe™ 18,000
Ol sRed ANdId 37,500
Ol =X2l s otea 58,500
O3HAM BSAXI| =2 30,000
ol 2 28| 13,500
oY JIBAA st 60,000
JeUgzae 2E(=21) 82,000 75,000 7,000
= 82,000
201 2 EH2EHI 20,400 13,400 7,000
= 20,400
01 At 2teltl 19,400 11,900 7,500
oO%FYR =& 19,400
= 19,400
02 3323l 1,000 1,500 A500
OLEHYR IHHRX 1,000
= 1,000
202 044l 15,600 14,000 1,600
= 15,600




SN s
HH: ASNSAWAR D(SYHY 4/ 5Y - SE)
NI TR ol )

-3 e (3) - HRA 0f &t o e 52

01 =UWo 15,600 14,000 1,600
og=ael = 15,600
= 15,600

308 AtXIEHMSOIH 46,000 47,600 1,600
= 46,000

01 HXSHMBLEEXS 46,000 47,600 21,600
OAl=z dae 46,000
= 46,000

ASETAEM (ALY 293,222 293,222 0
Jl 293,222

308 AtXIEHMSOIH 293,222 293,222 0
Jl 293,222

01 HXSHMBa 2 293,222 293,222 0
ORASEHMEM (A 22lH]) 293,222
Jl 293,222

A5 BEXAFINEM(=2) 35,190,900 36,093, 140 902,240
= 35,190,900

308 AXIHMSO0IH 35,190,900 36,093, 140 902,240
= 35,190,900

01 HIXHMBYELS 35,190,900 36,093, 140 902,240
OMASEIA 35,190,900
= 35,190,900

u1sad 28 243 753,400 0 753,400
= 694,000
T 59,400

403 XXM S A2 753,400 0 753,400
= 694,000
= 59,400

01 HXSHH=2ExE 753,400 0 753,400
OH 2= - HEAE X&(2 488,400
= 444,000
T 44,400
O 2= - HEANE N (H2ME) 265,000
= 250,000
T 15,000

= MaDgt =4 8,183,803 9,511,599 A1,327,79%
= 7,424,400
T 759,403

FTAS &&= 384 ql 620,155 763,035 A 142,880

202 04H| 4,000 4,000 0

01 =W ol 4,000 4,000 0
OFTAIS &% 4,000

308 AXIHMSO0IA 352,980 405,360 252,380




A S
HH: ASNSAWAH D(SYH Y4/ 5Y - 5E)
ol RS MAD|BF R4 (EEEEED
SA - B SRA(SH) - MRAY - BAS 04 4t o e HIDE2
01 UAXSHMB L EXS 352,980 405,360 /52,380
OJSESZ X HAMEH XI& 77,760
O&ES+=+ B33 75,000
oA AHE HEE N 200,220
403 XX H S =0l A 263,175 333,675 270,500
01 AXISHMA=E X 263,175 333,675 A70,500
(OF2 52 P2 PN RPN EST= R 52,500
OXEd SN =d 60,675
OF3AHIIBtEY 42,000
OLNMAREAE XIS 108,000
gsAEM(=2) 7,424,400 7,724,364 A 299,964
= 7,424,400
308 AXIHMSOIA 7,424,400 7,724,364 A299,964
= 7,424,400
01 UAXHMB L EXS 7,424,400 7,724,364 A 299,964
ogsg =M 7,424,400
= 7,424,400
sEM=+ 139,248 124,200 15,048
308 XtXIEMSO0IH 139,248 124,200 15,048
01 UAXSHMB L EXS 139,248 124,200 15,048
OsXH=MHEE X& 116,748
osJIAsEEE N& 22,500
sgIIHE X ~SoHE 14,001,762 14,936,360 934,598
= 9,823,800
= 4,177,962
sIH UM (=1) 2,400,000 3,000,000 600,000
= 2,000,000
< 400,000
403 UHXISHH S =0l 2,400,000 3,000,000 600,000
= 2,000,000
= 400,000
01 AXISHMA=E L 2,400,000 3,000,000 600,000
OsII A UAL 2,400,000
= 2,000,000
< 400,000
TAHECINAAZSHMAME (2 1D) 8,088,990 8,088,360 630
= 7,703,800
< 385,190
308 NtAIEMSO0IE 8,088,990 8,088,360 630
= 7,703,800
= 385,190
01 UAXSHHBLEEXS 8,088,990 8,088,360 630




A s0IED
T FH: AR DD
[ (=t}

tel: sYIIAs ¥ ASeHE (&2l &)
SA - HR - SR(3) - MRAY - BES 0l &t e HjmE=+1
OXA=CINIHNENEEXS 8,088,990
= 7,703,800
= 385,190
sIHS= 3,108,500 3,743,000 A634,500
202 044l 6,500 7,000 A500
01 S LHO B 6,500 7,000 A500
O=sgJlHat & ASUHFFA 6,500
308 XHXIHMSOIH 2,458,000 2,458,000 0
01 UAXSHHBAEES 2,458,000 2,458,000 0
OsgE HAMs 22dl X& 2,314,000
OZUsIIAH ==cl2gdl A& 144,000
403 UHXISHH S =0l 644,000 1,278,000 A634,000
01 AXISHMA=E L 644,000 1,278,000 A634,000
OUE=IIH LUHXNA 480,000
OAEsIIH SUXA 72,000
OLU=IIAH HisxE X 72,000
OsJAE20 4X X& 20,000
DA=SHO ==AH XA 230,272 105,000 125,272
308 XHXIHMSOIH 230,272 105,000 125,272
01 UAXSHMBAEES 230,272 105,000 125,272
OongE=sgel =&Yl XA 230,272
s9J|H SSEX EHIA(21) 174,000 0 174,000
= 120,000
T 54,000
308 XtXIEMS0IH 174,000 0 174,000
= 120,000
< 54,000
01 UAXSHMBAEES 174,000 0 174,000
O=YIIH SsH&EX A 174,000
= 120,000
< 54,000
SAUMAD|E T (sEdYrd/ s - &) 21,937,290 20,045,895 1,891,395
= 4,042,290
N 14,984,000
o= 2,911,000
HE N Ex=Z2MHAH HE 7,274,000 7,209,000 65,000
= 4,026,000
N 1,016,000
= 2,232,000
B = JHE AL (2 12) 3,726,000 3,226,000 500,000
= 3,726,000
402 212t X201 & 3,726,000 3,226,000 500,000




A s0IED
HHM: QM) T (sEdYsd/=sY - &)
el HEA 22 M A =E (el &)
SA - HH SR (B) - MRAY - BAS il &t e imE=T
= 3,726,000
01 SIANGZAEEE 3,726,000 3,226,000 500,000
Ol = 3,726,000
= 3,726,000
St S:Hg A (=21) 300,000 300,000 0
= 300,000
403 MRS S K201 A 300,000 300,000 0
= 300,000
01 AXESHMA2EZR 300,000 300,000 0
ostetidl s 300,000
= 300,000
SENE SLNEAML(ZL-s4ER) 621,000 756,000 A 135,000
Xl 621,000
403 XXM S X201 & 621,000 756,000 A 135,000
Xl 621,000
01 AXISHMA=2EE 621,000 756,000 A 135,000
OsEsYdaEs Y 621,000
Xl 621,000
SEME SLIHLAMY(F2-FUR) 94,000 273,000 A 179,000
Xl 94,000
403 XX SH M S X201 & 94,000 273,000 A 179,000
Xl 94,000
01 AXISHMA=2E L 94,000 273,000 A 179,000
OsEsYMEEs HY 94,000
Xl 94,000
AN F=2lAlE HE > 836,000 336,000 500,000
403 MRS S K201 A 836,000 336,000 500,000
01 XXISHH K22 X 836,000 336,000 500,000
o%elAE KB4 836,000
2HE IISUHHEAY 160,000 160,000 0
403 XX SH M S X201 & 160,000 160,000 0
01 AXESHMA2E R 160,000 160,000 0
OZLXZ IISHAAY 160,000
THEFORR ARZEXICH (A XI)OH A CHE 400,000 656,000 A 256,000
403 MRS S K201 A 400,000 656,000 A256,000
01 AXISHMA=2EE 400,000 656,000 A256,000
O=XM==X & B - 22 400,000
= A AR D BHEH| ALY 813,000 808,000 5,000
202 44l 18,000 0 18,000
01 =LHOYI 18,000 0 18,000




e ER==PIE
M S| 2y (s - 5&)
Ol OFEE S4ZIAN = (S91:&8)
= _ — &
SA B SA(S) - MRAY - BAS 0f 4t o4 St DS
OsYdaD|e JHIAIY HRFX 18,000
403 MR H S =0l A 795,000 808,000 A 13,000
01 [XIEMA2E X 795,000 808,000 13,000
O=gdLI| et 795,000
A2 I (=2 1) 324,000 0 324,000
N 301,000
= 23,000
403 XtXIEHHS =0l A 324,000 0 324,000
X 301,000
= 23,000
01 IXIEMA2E X 324,000 0 324,000
QA2 Hi=IHH 324,000
X 301,000
= 23,000
S MAD| B ZHI 14,663,290 12,836,895 1,826,395
= 16,290
N 13,968,000
S 679,000
SYMA DIEHEHIAIS (T E - &D18H)(=F 1) 9,734,000 10,759,920 1,025,920
N 9,055,000
T 679,000
403 XtXIEHH S =0l A 9,734,000 10,741,000 21,007,000
X 9,055,000
T 679,000
01 UtXIEM A= E 9,734,000 10,741,000 A 1,007,000
o= FXdcl 2,609,000
N 2,427,000
T 182,000
Oogoler & 7,125,000
N 6,628,000
T 497,000
JIHSERZ STIAL (I D-s4ER) 567,000 702,000 A 135,000
N 567,000
403 RHXISHH S K201 & 567,000 702,000 135,000
X 567,000
01 UtXEMA=EE 567,000 702,000 A 135,000
QJlN=taxz &g 567,000
N 567,000
IIHEERE SHEEA(2D-ST ) 4,346,000 1,343,000 3,003,000
X 4,346,000
403 MR H S =01 A 4,346,000 1,343,000 3,003,000
N 4,346,000
01 UtXIEM A= E 4,346,000 1,343,000 3,003,000
OJlNstasE &2y 4,346,000




SA: sgIer
I sHdMIIE Y (sl /5 - 58)
el S olMADIEE FY| (EEEEED
- _ - &4
S B ER(3) - MIRAY - BES Ofl &t o4 St HIBE2
| Al 4,346,000
SRMAAEZAL 52X X (21) 16,290 31,975 A 15,685
= 16,290
202 ol 3,090 4,975 A1,885
= 3,090
01 =Wl 3,090 4,975 1,885
O=RML HEHEZAL ESEX] G2FT 3,090
= 3,090
403 MHAIHSAHZ01A 13,200 27,000 213,800
= 13,200
01 XS Ex 13,200 27,000 A 13,800
O==M& AEiZA 52X X 13,200
= 13,200
HY2SZHI (=T (JIEHIIE 39,900 41,200 A1,300
Jl23Hl 39,900 41,200 A1,300
FA2EI=EH 39,900 41,200 A1,300
201 282 24,900 26,000 A1,100
01 At 2telHl 24,900 26,000 A1,100
ORA2g AtR22H| 24,900
202 o4l 10,800 11,000 A200
01 =Wl 10,800 11,000 A 200
FA2g =Y 10,800
203 Y R=4Y| 4,200 4,200 0
04 EAE2EERFAH 4,200 4,200 0
©30¢! Olat 350,000 122 4,200
Hegs(sgoetn)(sgdsb/sd - s&) 1,055,631 2,359,560 21,303,929
2HIE 881,631 2,179,560 21,297,929
SZAASE 0l™ =4 881,631 2,179,560 1,297,929
311 Xt SOl At & 104,431 402,360 A297,929
02 Sst=sJ12XL S0l Ktaret 104,431 168,418 263,987
O&FNHASE 0ldxH 104,431
601 sS4 et 777,200 1,777,200 21,000,000
02 Sst=s)2dNL=r=a 777,200 777,200 0
OZNASE 018xd 777,200
WA XE(M+=3 2elsaE) 174,000 180,000 26,000
TAASE 0l =4 174,000 180,000 26,000
705 Gl==&clSdet 174,000 180,000 6,000
03 Al - =X ISt ~=R =t 150,000 150,000 0
O&ZNHSZE 0ldxd 150,000
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